mssp_i2c
#tdefine _LEGACY_HEADERS

#include <hte. h>
#include “mssp_i2c. h”
#define TRUE 0xO0;

#tdefine FALSE Ox1:
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void i2c_start (void) {
SEN = 1; // SSPCON2:0 initiate 12C START condition
while (SEN == 1); // wait until START bit finishes
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void i2c_restart( void) {
N=1; // SSP1CON2:1 Repeated Start
while (RSEN):;
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void i2c_write( unsigned char DataByte ) {
SSP1BUF = DataByte:
| while R_nW == 1);
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unsigned char i2c_read( void) {
EN = 1; // SSP1CON2:3 Receive enable
while (RCEN == 1);
return SSP1BUF;
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void i2¢_stop( void) {
PEN = 1; // SSP1CON2:2 initiate 12C STOP condition

while (PEN):
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void i2c_sendack (unsigned char status) {
ACKDT = status; // SSPCON2:5 set to ACK:0, NACK:1
ACKEN = 1; // SSPCON2:4 initiate 12C ACK condition
while ( ACKEN) : // wait until ACK sequence is over
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unsigned char i2c_readack (void) {
if (ACKSTAT == 0) {

return 1; // ACK detected
} else {
return 0; // ACK not detected
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unsigned char i2c_writeto(unsigned char address) {
i2c_start();

i2c_write(address | 0x0);

if(i2¢_readack ()) return TRUE;

return FALSE;

}
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unsigned char i2c_readfrom(unsigned char address) {
i2c_start();

i2c_write(address | 0x1);

if(i2c_readack()) return TRUE:

return FALSE;
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